BENTLEY CRICKET CLUB

1993/94 SEASON



BENTLEY CRICKET CLUB

A number of companies have provided sponsorship support to the Bentley Cricket Club this season and we wish to thank them.

Socomin Internation Fine Foods
The Cricket Shop
Striker Belmont
Sardi's
Pancho's Mexican Restaurant
Designair

CUB Breweries
Club Rumours
The Edge Niteclub

FROM THE PRESIDENT

Another year has come and gone and it is interesting to reflect on where we were at last year at this time, in an attempt to predict where we will be in 12 months time.

A year ago we had come off a season where our top side had not won a game, but the lower grades were both competitive without making the four. At times during that season we struggled to get enough players to fill all 3 sides, but despite this the club had had a good year financially and was hopeful of performing better on the field during 1993/94.

There was a recognition around the club that it was time to appoint an "outsider" as coach in the hope of taking the club out of the doldrums. Enter Steve Shearing, a well respected opponent over many years at Victoria Park Cricket Club. Immediately the quality of training and enthusiasm around the club lifted several notches. Numbers at pre-season training reached a record high and the historic decision was made to enter a fourth team. A decision that was vindicated as the season wore on.

The on-field performances immediately improved with all teams playing with a new keenness. As the season rolled on, Steve's hard work and will to win began to rub off and at the end of the season, the club was winning more games than it was losing. Significantly the top team had won 3 games, been competitive in most of the others, and had managed to lift itself off the bottom of the table to a final position of tenth.

The club has quite clearly made great progress since this time last year. Bentley can quite rightfully face the 1994/95 season with confidence and anticipation. No doubt the credit for this improvement falls justifiably with Steve Shearing's professional approach, but I'm sure that Steve will agree that some credit will also go to the players who supported him this year.

Off the field the club celebrated its 40th year, the culmination of which was the reunion dinner. Past players and stalwarts commented that it was one of the best nights in the clubs' history. Socially, the club had a very good year with the highlight being a number of "inaugural" events.

Finally, it is with some sadness that the day has finally come where Geoff Farrall has played his last game for Bentley. Geoff achieved the wonderful milestone of 400 games for Bentley, but his off field exploits have also been unforgettable. Geoff has ensured that Bentley Cricket Club will continue in the fine traditions that he helped create.

To the committee, other helpers and the players thanks for your support. Your President says thank you.

Let the new season begin.

ANDREW 'ACE' HAYWARD President BENTLEY CRICKET CLUB

2ND GRADE

Bentley's top side experienced a season of frustration and finished 10th in 2nd Grade after winning 3 games. However, this does not accurately reflect the story of the season under new Captain-Coach Steve Shearing. The professional training methods and the attention to team building were highlighted throughout the season. Additionally, the introduction of some 9 new players into the side ensured that the latter season objectives of rebuilding and accessing our needs for the future were achieved.

The batting feats of Steve Shearing and Colin Dymock were outstanding (each scored 3 half centuries) their performances placed them in the top bracket of batsmen to have played with the club. Apart from Ian Dickerson the remaining players lacked consistency apart from the occasional innings of substance.

Spinner Colin Dymock capped off a fine season by being the leading wicket taker, twice taking stands of six wickets in an innings. Colin was ably supported by the consistent wicket taking of Steve Shearing, Colin Chilcott, Ian Dickerson and Tony Magill.

The fielding reflected the hard work put in at training with keeper Steve Tagliaferri and outfielder Tony Magill both outstanding throughout the season.

2ND GRADE

BATTING AND FIELDING

Player	Games	Inn	N.O.	H.S.	Runs	Ave.	Balls	Strike Rate	Catch/ Stumping
S Shearing	11	15	3	84	389	32.42	1008	38.59	10
C Dymock	11	13	1	91*	370	30.83	779	47.50	6
I Dickerson	9	9	1	57	186	23.25	351	52.99	0
C Chilcott	10	10	0	66	136	13.60	183	74.32	3
T Magill	9	11	6	38*	118	23.60	127	92.91	4
P Quartermai	ine 5	6	0	57	105	17.50	262	40.08	1
M Harmer	6	8	2	21	102	17.00	295	34.58	3
S Thorpe	6	8	1	36	100	14.29	271	36.90	2
K Dawson	, 3	4	1	42	89	29.67	180	49.44	1
M Dickerson	3	4	0	35	63	15.75	84	75.00	0
S Tagliaferri	9	7	3	23	62	15.50	298	20.81	19/6
L Dungey	4	4	0	20	39	9.75	63	61.90	0
S Ghauri	4	4	0	22	37	9.25	169	21.89	2
G Kierse	4	4	0	13	36	9.00	94	38.30	1
A Hayward	7	6	0	22	29	4.83	84	34.52	4
P Murphy	1	1	1	20*	20	-	20	100.00	1
G Sheppard	3	4	0	7	16	4.00	32	50.00	0
S Magill	2	2	0	13	13	6.50	37	35.14	0
B Kelly	4	4	0	9	13	3.25	109	11.93	1
S Cairns	2	3	0	9	11	3.67	77	14.29	1
T Fisk	2	2	2	3*	3	-	13	23.08	1
K O'Driscoll	2	2	0	3	3	1.50	25	12.00	0
B Hayward	1	1	0	2	2	2.00	25	8.00	1
M Lukan	1	1	0	1	1	1.00	15	6.67	0
G Davies	2	2	0	1	1	.50	16	6.25	4/1

2ND GRADE BOWLING

Player	Overs	Maidens	Runs	Wickets	Ave.	Best Bowling	Strike Rate
C Dymock	167.1	25	574	28	20.50	6/43	35.81
S Shearing	135.4	34	359	19	18.89	4/49	43.04
C Chilcott	188	42	546	17	32.12	5/49	66.35
I Dickerson	121.4	29	370	16	23.13	6/76	45.53
T Magill	104	29	291	13	22.38	5/33	48.00
M Dickerson	39	4	105	6	17.50	3/47	39.00
K O'Driscoll	15	2	50	5	10.00	4/29	18.00
G Sheppard	30	9	95	3	31.67	2/28	60.00
P Murphy	15	3	35	2	17.50	2/35	45.00
T Fisk	23	9	39	2	19.50	2/14	69.00
P Quartermaine	1	0	18	0	-	-	-
M Lukan	13	1	36	0	-	-	-
A Hayward	8	0	38	0	-	-	-

2ND GRADE

BEST PARTNERSHIPS

1st Wicket	74	C Chilcott/K Dawson	v Nedlands
2nd Wicket	49	S Shearing/C Chilcott	v Shenton Park
3rd Wicket	167	S Shearing/C Dymock	v M.N.O.B. *
4th Wicket	26	S Shearing/C Dymock	v M.N.O.B.
5th Wicket	49	M Harmer/M Dickerson	v Wembley
6th Wicket	68*	C Dymock/T Magill	v Melville
7th Wicket	69	S Shearing/I Dickerson	v Melville
8th Wicket	25	S Tagliaferri/S Thorpe	v Nedlands
9th Wicket	56	I Dickerson/S Tagliaferri	v Wembley *

^{*} Denotes record partnership for First Team

FIELDING VOTES (25 or better)

S Tagliaferri 133	T Magill 123	C Dymock 84
S Shearing 65	S Thorpe 51	M Harmer 41
A Hayward 35	C Chilcott 30	B Kelly 27
G Davies 25		

The 4th Grade began the season sensationally by winning two of their first four fixtures. (Including the first outright victory by this side in 10 seasons). However a mid-season slump that included 3 narrow losses destroyed any hope of making the four. To the teams credit they won the final 3 games of the season in brilliant fashion to finish with 5 wins and a position in the middle of the table.

Skipper Brian Hayward had an outstanding season with the bat (including 3 scores in excess of 60) however for much of the season his was a lone hand. Opener Steve Cairns started and finished the season with scores of 50 plus (his first in this grade in over 100 games) to provide some top order support.

The bowling department was led by Brian Williams and Mark Lukan, both bowled consistently and at times brilliantly throughout the year. Special mention must be made of Mal Dickerson's fine performance against Murdoch, combined match figures of 13/41 (6/27 and 7/14) placed him second only to the legendary Geoff Farrall (14/43) for the greatest number of wickets in a match in this grade.

In the field, keeper Glenn Davies was head and shoulders above his team mates, whilst slips specialist Brian Hayward and tyro Steve Thorpe provided support.

BATTING AND FIELDING

Player	Games	Inn	N.O.	H.S.	Runs	Ave.	Catch/ Stumping
B Hayward	9	9	0	73	346	38.44	7
S Cairns	9	10	0	66	225	22.50	5
G Sheppard	8	9	0	43	166	18.44	2
R Fernandez	8	8	0	49	142	17.75	3
S Magill	9	10	0	23	118	11.80	3
G Davies	9	9	0	35	104	11.56	14/1
P Murphy	7	7	2	41	97	19.40	2
B Williams (Brian)	11	11	3	33	93	11.63	5
S Thorpe	4	4	0	72	83	20.75	4
A Hayward	4	4	0	47	75	18.75	5
P Quartermaine	5	5	0	35	72	14.40	2
L Dungey	4	5	0	57	72	14.40	1
G O'Brien	5	5	1	40	54	13.50	2
M Lukan	8	9	4	16	54	10.80	3
B Kelly	1	1	0	36	36	36.00	1
T Magill	1	1	0	22	22	22.00	1
S King	2	2	2	8*	14	-	1
S Ghauri	1	1	0	13	13	13.00	0
S Tagliaferri	2	2	0	5	8	4.00	3
T Fisk	4	3	2	6*	7	7.00	0
S Bryce	1	1	0	7	7	7.00	0
G Dickerson	3	3	0	5	6	2.00	1
I Dickerson	2	2	0	1	2	1.00	1
M Jolly	1	1	0	1	1	1.00	0
M Dickerson	1	1	0	0	0	-	0
P Warren	1	1	0	0	0	-	1
K Magill	1	1	0	0	0	-	1

4TH GRADE BOWLING

Player	Overs	Maidens	Runs	Wickets	Ave.	Best Bowling
B Williams (Brian)	161.5	36	47 7	24	19.88	3/9
M Lukan	144.3	42	327	23	14.22	4/25
M Dickerson	21	9	41	13	3.15	7/14
A Hayward	60.3	10	176	9	19.56	3/39
G Sheppard	52.3	18	127	8	15.88	5/20
P Murphy	72	7	236	8	29.50	3/41
S King	22	3	77	7	11.00	5/43
T Fisk	66	19	152	7	21.71	3/38
I Dickerson	35.2	4	130	4	32.50	3/73
G Dickerson	18	3	64	2	32.00	1/14
S Thorpe	9	0	41	1	41.00	1/28
S Ghauri	6.4	0	47	1	47.00	1/47
S Bryce	12	1	48	1	48.00	1/48
G O'Brien	35	12	86	1	86.00	1/38
S Magill	2	0	2	0	-	-,
R Fernandez	1.2	0	5	0	186	
T Magill	5	0	11	0		-
M Jolly	5	2	16	0	(S#)	8
P Quartermaine	5	1	28	0	19 2 3	2
B Kelly	3	0	30	0	0 4 3	ž.

BEST PARTNERSHIPS

1st Wicket	39	G Sheppard/S Cairns	v Girrawheen
2nd Wicket	50	S Cairns/B Hayward	v Nedlands
3rd Wicket	64	S Cairns/B Hayward	v Murdoch
4th Wicket	117	S Thorpe/L Dungey	v Doubleview
5th Wicket	75	R Fernandez/B Kelly	v Shenton Park *
6th Wicket	65	B Hayward/S Magill	v M.N.O.B.
7th Wicket	31	G Davies/S Magill	v Shenton Park
8th Wicket	89	R Fernandez/A Hayward	v Nedlands *
9th Wicket	38	P Murphy/M Lukan	v Melville
10th Wicket	36	P Murphy/B Williams	v Nedlands

^{*} Denotes record partnership for Second Team

FIELDING VOTES (25 or better)

G Davies 105	B Hayward 87	S Thorpe 79
S Magill 58	A Hayward 53	P Murphy 40
M Lukan 37	S Cairns 36	B Williams 30
P Quartermaine 29	T Fisk 27	R Fernandez 25

The 7th Grade began the season disastrously with 3 big losses, but settled down in the middle of the season to win two games and lose narrowly by 1 run in another.

Overall though their season performances of 3 wins was not up to scratch and may see them face relegation next season. The batting during the season proved to be consistent without being outstanding, despite this young players Kevin Magill and Paul Warren both batted in the top order and turned in their best season performances. Other solid performances were contributed by opener Damica Wickramaratne and Brendon Kelly from limited appearances before being promoted.

Captain John Williams capped off a fine all round season by being the leading wicket taker and continues to lead from the front. Greg Dickerson, although playing up and down the grades, provided strong support including a career best 7/14 against Dianella Alexander. Medium pacers Steve King and Lindsay Guy were useful contributors early in the season when the side was struggling.

The early season fielding form of Brendon Kelly proved to be outstanding, with keeper Damica Wickramaratne again reliable behind the stumps, whilst outfielders Kevin Magill and Paul Warren were tireless contributors.

BATTING AND FIELDING

Player	Games	Inn	N.O.	H.S.	Runs	Ave,	Catch/ Stumping
K Magill	9	11	0	58	186	16.91	6
P Warren	9	12	1	46	184	16.73	5
D Wickramaratne	11	14	0	50	165	11.78	11/7
	5	5		59	151	30.20	6
B Kelly J Williams			0				
	11	11	1	34	147	14.70	4
R Fernandez	3	3	0	67	130	43.33	1
P Murphy	2	2	0	62	101	50.50	1
G O'Brien	3	4	0	59	80	20.20	1
G Dickerson	8	8	0	22	79	9.88	6
L Guy	9	11	5	16	73	12.17	3
M Kennedy	1	1	0	70	70	70.00	1
B Davis	4	5	1	26*	63	15.75	4/1
S King	8	8	0	25	51	6.38	1
M Jolly	6	7	1	26*	41	6.83	0
D Brown	6	7	0	14	40	5.71	1/1
L Dungey	3	4	1	19	39	13.00	3
P Crockenburg	2	3	0	15	29	9.67	1
K Sloper	2	2	0	20	23	11.50	1
G Farrall	7	7	6	7*	20	20.00	2
B Williams (Brett)	1	2	0	12	16	8.00	2
R Washing	1	2	1	11*	11	11.00	1
J Ford	2	2	0	9	10	5.00	0
C Chilcott	1	1	0	9	9	9.00	0
P Roach	2	3	0	5	8	2.67	0
F Matera	3	3	0	3*	5	1.67	1
M Leicester	1	1	0	2	2	2.00	2

7TH GRADE BOWLING

Player	Overs	Maidens	Runs	Wickets	Ave.	Best Bowling
J Williams	129	20	435	28	15.54	4/9
G Dickerson	88	17	268	20	13.40	7/14
S King	107	17	344	17	20.24	4/26
L Guy	88	21	264	13	20.31	4/18
G Farrall	51	9	202	8	25.25	3/43
K Magill	41	2	203	8	25.38	3/9
M Jolly	63	18	182	5	36.40	3/32
C Chilcott	22	2	53	4	13.25	4/53
F Matera	26.3	8	55	4	13.75	2/2
G O'Brien	16	4	54	4	13.50	3/44
K Sloper	20	1	62	3	20.67	3/31
M Kennedy	14	6	25	2	12.50	2/25
J Ford	7	0	40	2	20.00	2/22
B Kelly	23	3	77	2	38.50	1/9
P Crockenburg	11	2	34	1	34.00	1/20
D Brown	1	0	3	0	-	-
D Wickramaratne	2	1	7	0	닯	黨臣
L Dungey	2	0	16	0	.	•
P Warren	2	0	24	0	2	(2)
M Leicester	9	3	29	0	*	. * 3
P Murphy	18	6	44	0	2	0906

BEST PARTNERSHIPS

B.
ds
ds
B.
n Park
neen
a
OSS
erth

FIELDING VOTES (25 or better)

B Kelly 98	D Wickramaratne 72	K Magill 66
P Warren 60	G Dickerson 49	D Brown 41
J Williams 40	B Davis 38	S King 38
K Sloper 28	L Guy 27	

^{*} Denotes record partnership for Third Team

For the first time in Bentley's forty year history a fourth team was entered and placed in the 1 day 9th Grade competition. Association rules and lack of numbers saw the team short of players early in the season. This was rectified as the season wore on with a nucleus of good players being available for each fixture. Including a forfeit Bentley won 5 of the 18 games to finish in the lower half of the table.

First year skipper with perhaps one of the most difficult jobs in the Club led the team and the batting with distinction. Newcomer Shaun Bryce and part timer John Atkinson provided consistent support. Outstanding one off contributions by Ken Sloper, Mick Kennedy and Phil Crockenburg indicated that they all have the ability to play in higher grades in the future.

The bowling honours were shared evenly with part timers Frank Matera and Gus Edmonds being the main contributors, Frank's 6/14 against Shenton Park was the single best performance where bowlers are each limited to a maximum of 8 overs.

Shaun Bryce was outstanding in the fielding department to top off a fine debut season and an excellent all-round performance.

BATTING AND FIELDING

Player	Games	Inn	N,O,	H.S.	Runs	Ave.	Catch/ Stumping
M Warren	17	17	0	36	203	11.94	15
S Bryce	12	12	4	48*	161	20.13	8
J Atkinson	8	8	0	79	152	19.00	5
K Sloper	4	3	0	77	146	48.67	6
B Davis	6	6	1	53	135	27.00	5/1
G Smith	4	4	0	59	130	32.50	4
M Kennedy	2	2	1	72*	102	102.00	1
D Morrissey	7	7	1	34*	100	16.67	0
P Crockenburg	1	1	0	85	85	85.00	0
P Roach	2	2	0	46	75	37.50	0
D Brown	8	8	1	20	62	8.86	0
M Hood	8	7	1	16	45	7.50	0
J Ford	3	3	0	20	44	14.67	0
A Baldwin	13	12	4	17*	44	5.50	5
F Matera	10	8	0	22	39	4.88	2
L Guy	3	3	0	35	37	12.33	0
T Magill	1	1	0	35	35	35.00	0
K Magill	1	1	0	27	27	27.00	0
G Edmonds	10	7	3	13	25	6.25	4
R Davis	13	9	4	6*	24	4.80	0
M Dickerson	1	1	0	23	23	23.00	0
M Jolly	1	1	0	18	18	18.00	1
M MacDonald	4	4	0	6	15	3.75	3
P Murphy	1	1	1	13*	13	-	0
R Kaine	4	2	1	5*	10	10.00	4
B Perry	5	5	2	5*	10	3.33	1
A Cooper	1	1	0	10	10	10.00	0
D Williams	1	1	0	8	8	8.00	2
B Williams (Brett)	3	3	0	3	4	1.33	0
R Washing	1	1	0	4	4	4.00	0
A Malins	1	1	0	2	2	2.00	0
H Dymock	1	1	0	1	1	1.00	0
M Kenrick	1	1	1	1*	1	-	2
G Farrall	3	0	0	0	0	••	0
S King	1	0	0	0	0	-	0

9TH GRADE BOWLING

Player	Overs	Maidens	Runs	Wickets	Ave.	Best Bowling
F Matera	70	19	198	21	9.43	6/17
G Edmonds	68	12	248	19	13.05	4/19
M Warren	76.2	6	411	14	29.36	4/3
S Bryce	70.2 77.2	15	221	13	17.00	4/2
•	30	2	102	7	14.57	•
B Perry		5				2/15
K Sloper	25.3		81	6	13.50	2/0
G Farrall	19	1	98	6	16.33	3/38
D Morrissey	41	6	131	6	21.83	2/6
A Baldwin	27	0	162	4	40.50	2/40
A Malins	8	2	16	3	5.33	3/16
L Guy	18	5	41	3	13.67	2/23
B Williams (Brett)	10	0	86	3	28.67	3/54
M Kennedy	4.1	2	17	2	8.50	2/17
M Jolly	5	1	25	2	12.50	2/25
T Magill	8	1	27	2	13.50	2/27
M Dickerson	8	1	25	1	25.00	1/25
R Davis	5	0	34	1	34.00	1/23
P Murphy	8	0	34	1	34.00	1/34
G Smith	13	1	41	1	41.00	1/6
P Crockenburg	8	0	46	1	46.00	1/46
J Ford	16	1	66	1	66.00	1/37
D Brown	1	0	21	0	-	-
S King	4	0	28	0		1240
R Washing	2	0	11	0	:=	3 # 3

BEST PARTNERSHIPS

1st Wicket	75	K Sloper/J Atkinson	v Hamersley Carine
2nd Wicket	21	M Warren/M Hood	v Doubleview
3rd Wicket	64	P Roach/M Kennedy	v Mosman Park
4th Wicket	65	B Davis/M Warren	v Hamersley Carine
		A Cooper/S Bryce	v Curtin University
5th Wicket	25	P Crockenburg/S Bryce	v Applecross 2
6th Wicket	33	G Smith/M Hood	v Shenton Park
7th Wicket	43	D Morrissey/F Matera	v Applecross 1
8th Wicket	32	P Crockenburg/R Davis	v Applecross 2
9th Wicket	12*	A Baldwin/G Edmonds	v Shenton Park
10th Wicket	23	M Jolly/G Edmonds	v Murdoch University

FIELDING VOTES (25 or better)

S Bryce 156	G Edmonds 93	M Warren 84
B Davis 88	A Baldwin 81	J Atkinson 77
K Sloper 55	F Matera 52	R Kaine 43
G Smith 30		

RALPH DUNGEY MEMORIAL TROPHY

C Dymock	734 *	P Quartermaine	209
S Shearing	644 *	S Magill	190
J Williams	467 *	L Dungey	183
S Bryce	464 *	L Guy	181
T Magill	462	G Farrall	172
B Hayward	435 *	G Smith	170
M Warren	432 *	D Morrissey	170
I Dickerson	392	D Brown	167
C Chilcott	389	A Baldwin	165
P Murphy	389	M Harmer	143
K Magill	369 *	P Crockenburg	139
B Williams (Brian)	363 *	M Jolly	136
G Dickerson	360 *	A Fisk	131
F Matera	357 *	K Dawson	96
S King	346	J Ford	87
B Kelly	345 *	P Roach	85
K Sloper	342	B Perry	85
B Davis	324	B Williams (Brett)	83
S Thorpe	323	S Guauri	80
M Lukan	322 *	K O'Driscoll	64
G Edmonds	308	G Kierse	58
G Sheppard	302	R Kaine	53
R Fernandez	301	R Davis	50
M Dickerson	292	M Hood	47
A Hayward	282	A Malins	35
S Cairns	272	R Washing	35
P Warren	248	M MacDonald	29
D Wickramaratne	237	A Cooper	17
G Davies	235 *	D Williams	15
J Atkinson	229	M Kenrick	12
G O'Brien	227	M Leicester	10
M Kennedy	220	H Dymock	7
S Tagliaferri	216 *		

^{*} Denotes trophy winner so ineligible

CAREER BATTING & FIELDING RECORDS

Player	Games	Innings	N.O.	H.S.	Runs	Ave.	Catches/ Stumpings
L Dungey	311	400	59	99*	6225	18.26	136
G Farrall	405	520	94	75	4727	11.10	140
B Hayward	246	294	24	107	4697	17.40	158/13
P Quartermaine	182	233	29	93	4479	21.96	68
A Hayward	200	226	21	114*	4260	20.78	108/4
S Cairns	221	313	49	66	3403	12.89	87
J Williams	201	212	29	71*	2902	15.86	60
A Malins	258	305	50	60	2333	9.15	75
I Dickerson	120	138	15	68	2127	17.29	34
G Dickerson	153	177	15	108	2082	12.85	61
R Fernandez	101	111	9	96*	1924	18.86	32
M Dickerson	97	121	6	166	1923	16.72	42
J Ford	88	92	8	69	1029	12.25	33
A Magill	58	70	18	76	941	18.10	30
B Kelly	51	64	4	115*	923	15.38	23
B Williams (Brian)	66	71	18	67	837	15.79	41
M Lukan	69	76	13	48	823	13.06	24
M Harmer	66	73	16	87	813	14.26	67/6
G Davies	50	55	6	63	726	14.82	48/4
P Roach	61	75	6	50	701	10.16	11
S Tagliaferri	54	59	11	96	663	13.81	86/17
K Magill	32	45	8	58	500	13.51	13
S Magill	59	62	13	34	463	9.45	25
R Kaine	31	31	5	44	439	16.88	23/3
J Atkinson	22	25	0	79	434	17.36	20
M Warren	50	54	8	38	395	8.59	33
S Shearing	11	15	3	84	389	32.42	10
C Dymock	11	13	1	91*	370	30.83	6
P Warren	19	26	1	57	366	14.64	8
A Cooper	22	29	2	26	342	12.67	8
B Davis	26	26	4	53	333	15.14	14/2
D Wickramaratne	20	25	1	50	325	13.54	22/12

CAREER BATTING & FIELDING RECORDS (cont)

Player	Games	Innings	N.O.	H.S.	Runs	Ave.	Catches/ Stumpings
D Brown	55	51	12	25*	312	8.00	7/1
C Chilcott	21	27	0	66	295	10.93	10
G O'Brien	19	23	2	59	294	14.00	9
P Murphy	11	11	4	62	231	33.00	4
S King	52	49	12	25	221	5.97	12
S Thorpe	10	12	1	72 =	183	16.64	6
G Sheppard	11	13	0	43	182	14.00	2
L Guy	20	24	7	35	173	10.18	6
M Kennedy	3	3	1	72*	172	86.00	2
K Sloper	6	5	0	77	169	33.80	7
S Bryce	13	13	4	48*	168	18.67	8
A Fisk	52	45	21	17	162	6.75	10
M Kenrick	21	21	6	20	138	9.20	6
G Smith	4	4	0	59	130	32.50	4
P Crockenburg	3	4	0	85	114	28.50	1
D Morrissey	7	7	1	34*	100	16.67	0
K Dawson	3	4	1	42	89	29.67	1
D Williams	4	6	1	19*	62	12.40	3
F Matera	19	18	1	22	62	3.65	4
M Jolly	8	9	1	26*	60	7.50	1
S Ghauri	5	5	0	22	50	10.00	2
G Kierse	4	4	0	13	36	9.00	1
M Hood	8	7	1	16	45	7.50	0
A Baldwin	13	12	4	17*	44	5.50	5
G Edmonds	10	7	3	13	25	6.25	4
R Davis	13	9	4	6*	24	4.80	0
B Williams (Brett)	4	5	0	12	20	4.00	2
R Washing	2	3	1	11*	15	7.50	1
M MacDonald	4	4	0	6	15	3.75	3
B Perry	5	5	2	5*	10	3.33	1
K O'Driscoll	2	2	0	3	3	1.50	0
M Leicester	1	1	0	2	2	2.00	2
H Dymock	1	1	0	1	1	1.00	0

CAREER BOWLING RECORDS

Player	Overs	Maidens	Runs	Wickets	Ave.
G Farrall	4760.4	718	15067	1284	11.73
A Malins	4038.5	1071	10339	769	13.44
J Williams	1730	224	5317	345	15.41
A Hayward	2115.1	492	5694	293	19.43
I Dickerson	1574.5	384	4525	186	24.33
M Dickerson	945	183	2930	126	23.25
G Dickerson	756.1	173	2100	122	17.21
S King	635.2	118	2010	113	17.79
M Lukan	837	211	2210	108	20.46
B Williams (Brian)	801.1	175	2233	108	20.68
P Roach	621.4	117	1735	96	18.07
A Fisk	732	192	1885	82	22.99
J Ford	551.2	176	1305	67	19.48
B Hayward	253	37	891	63	14.14
A Magill	449.4	111	1215	57	21.32
P Quartermaine	312.5	42	1152	54	21.33
L Dungey	154.3	12	592	40	14.80
C Chilcott	364	71	1058	39	27.13
M Warren	152.4	20	658	31	21.23
F Matera	134.3	34	383	29	18.21
C Dymock	167.1	25	574	28	20.50
G Edmonds	68	12	248	19	13.05
S Shearing	135.4	34	359	19	18.89
L Guy	152	34	418	19	22.00
G O'Brien	169.2	39	445	16	27.81
S Bryce	89.2	16	269	14	19.21
G Sheppard	82.3	27	222	11	20.18
B Kelly	85.1	20	263	11	23.91
P Murphy	113	16	349	11	31.73
K Sloper	45.3	6	143	9	15.89
M Harmer	58	8	200	9	22.22
K Magill	51.5	3	244	8	30.50

CAREER BOWLING RECORDS (cont)

Player	Overs	Maidens	Runs	Wickets	Ave.
D.D	20	2	100	7	1457
B Perry	30	2	102	7	14.57
M Jolly	73	21	223	7	31.86
R Kaine	62	11	224	7	32.00
R Fernandez	51.2	2	242	7	34.57
S Magill	61	11	136	6	22.67
D Morrissey	41	6	131	6	21.83
K O'Driscoll	15	2	50	5	10.00
M Kennedy	18.1	8	42	4	10.50
A Baldwin	27	0	162	4	40.50
G Davies	52.5	8	213	4	53.25
S Cairns	15.3	0	59	3	19.67
B Williams (Brett)	10	0	86	3	28.67
D Williams	15	2	65	2	32.50
P Crockenburg	19	2	80	2	40.00
R Davis	5	0	34	1	34.00
S Tagliaferri	10	2	36	1	36.00
M Kenrick	8	0	39	1	39.00
G Smith	13	1	41	1	41.00
S Thorpe	9	0	41	1	41.00
S Ghauri	6.4	0	47	1	47.00
D Wickramaratne	2	1	7	0	-
R Washing	2	0	11	0	2
M Leicester	9	3	29	0	*
D Brown	5	0	47	0	**
P Warren	6	0	54	0	17

SOCOMIN "PLAYER OF THE ROUND" AWARDS

Fixture 1	Lindsay Guy
Fixture 2	Mal Dickerson
Fixture 3	Frank Matera
Fixture 4	Colin Dymock
Fixture 5	Steve Shearing
Fixture 6	Greg Sheppard
Fixture 7	John Williams
Fixture 8	Steve King
Fixture 9	Phil Crockenburg
Fixture 10	Andrew Hayward
Fixture 11	Colin Dymock

MILESTONES ACHIEVABLE 1994/95 SEASON

250 Games B Hayward M Dickerson 100 Games 3000 Runs J Williams **2000 Runs** R Fernandez 2000 Runs M Dickerson 1000 Runs A Magill B Kelly 1000 Runs **B** Williams 1000 Runs 1000 Runs M Lukan 1000 Runs M Harmer 300 Wickets A Hayward 200 Wickets I Dickerson P Roach 100 Wickets 100 Wickets A Fisk



West Australian Suburban Turf Cricket Association (Inc.)

ADDRESS ALL CORRESPONDENCE TO: P.O. BOX 334, PERTH, WESTERN AUSTRALIA 6001 OFFICE: W.A.C.A. GROUND, NELSON CRESCENT, EAST PERTH TELEPHONE: 325 6397

POINTS TABLE FIXTURE 11

GRADE 1 WHITFORDS 105.80 SOUTH PERTH 96.37 CURTIN UNI 95.99 MOS/PARK 85.76 WEM/DOWNS 84.20 HAM/CARINE 81.94 D/ALEXANDER 78.49 SWANBOURNE 78.36 VIC/PARK 71.56 APPLECROSS 70.96 TUART HILL 60.65 NOLLAMARA 60.18	GRADE 4 M.N.O.B. 111.72 BEDFORD 97.70 BASSENDEAN 90.14 MELVILLE 87.15 BALCATTA 85.41 WEMBLEY 85.26 NEDLANDS 78.29 BENTLEY 76.47 SHENT/PARK 74.93 GIRRAWHEEN 59.96 DOUBLEVIEW 53.40 MURDOCH UNI 45.05	GRADE 7 APPLECROSS 114.16 STH/PERTH 109.92 NOLLAMARA 99.92 BALCATTA 91.33 BEDFORD 86.78 M.N.O.B. 84.87 WHITFORDS 84.80 D/ALEXANDER 83.37 GIRRAWHEEN 70.07 SHENT/PARK 67.78 BENTLEY 63.09 DOUBLEVIEW 44.55
GRADE 2 BALCATTA 111.64 WEMBLEY 102.17 M.N.O.B. 99.47 BEDFORD 82.26 DOUBLEVIEW 78.65 SHENT/PARK 77.54 BASSENDEAN 76.43 MELVILLE 72.83 MURDOCH UNI 71.75 BENTLEY 66.93 * NEDLANDS 63.76 GIRRAWHEEN 60.37 *	GRADE 5 WEM/DOWNS 111.32 WHITFORDS 89.44 SOUTH PERTH 88.05 BASSENDEAN 86.58 CURTIN UNIV 82.79 NEDLANDS 81.53 SWANBOURNE 74.82 WEMBLEY 73.70 TUART HILL 73.55 HAM/CARINE 70.80 VIC/PARK 70.42 NOLLAMARA 44.88	GRADE 8 MOS/PARK 109.89 APPLECROSS 107.66 TUART HILL 101.57 SOUTH PERTH 94.59 SWANBOURNE 87.60 MELVILLE 79.75 BALCATTA 73.98 CURTIN UNI 71.79 MURDOCH UNI 68.78 VIC/PARK 56.03 BASSENDEAN 56.01 SHENT/PARK 53.26
GRADE 3 STH/PERTH 102.53 APPLECROSS 96.52 TUART HILL 95.07 WHITFORDS 94.86 SWANBOURNE 94.13 WEM/DOWNS 90.60 VIC/PARK 83.50 CURTIN/UNI 80.98 NOLLAMARA 73.78 D/ALEXANDER 53.77 MOS/PARK 51.95 HAM/CARINE 50.36	GRADE 6 WHITFORDS 122.49 WEM/DOWNS 102.01 M.N.O.B 97.41 BALCATTA 89.47 WEMBLEY 83.60 BEDFORD 83.47 D/ALEXANDER 79.00 CURTIN UNI 73.86 HAM/CARINE 72.92 VIC PARK 60.56 NEDLANDS 53.07 MELVILLE 52.45	GRADE 9 WHITFORDS 143.86 NEDLANDS 133.56 MOS/PARK 118.19 M.N.O.B. 113.39 AP/CROSS 1 112.18 HAM/CARINE 110.90 AP/CROSS 2 110.62 DOUBLEVIEW 98.38 CURTIN UNI 97.50 BEDFORD 94.66 SHENT/PARK 86.70 STH/PERTH 86.43 BENTLEY 82.90 MURDOCH UNI 62.94 SWANBOURNE 62.28

SLATER	GAF	TRELL	MAN	OF	THE	ROUND	AWARDS
DIVISIO	ON 1	R.H	alls			Balca	tta

DIVISION 1 R.Halls Balcatta 198 Points
DIVISION 2 G.Caporn Whitfords 184 Points
DIVISION 3 R.Breen Mos/Park 207 Points

^{*} In grade 2 game results under review.

AWARDS FOR FIXTURE 11

2nd Grade \$30 Rumours Voucher

Sardi's Dinner Voucher

12 Cans

Pancho's Dinner

Colin Dymock

Steve Tagliaferri

Paul Murphy

Steve Thorpe

4th Grade \$25 Cricket Shop Voucher

12 Cans

Pancho's Dinner

Stephen Cairns

Brian Williams

Andrew Hayward

7th Grade

12 Cans

12 Cans

Pancho's Dinner

Mick Kennedy

John Williams

Damica Wickramaratne

9th Grade

12 Cans

12 Cans

Pancho's Dinner

Michael Jolly

Lindsay Guy

Gus Edmonds

Socomin Trophy

Colin Dymock

Raffle Winners

Lloyd Dungey Damica Wickramaratne

'100' Club Winner

11311

D.H. Award Winner

Steve Shearing

BENTLEY'S CRICKET GURU

The 1993/94 cricket season saw the introduction of a new Captain/Coach. Steve Shearing arrived like a breath of fresh air. His arrival saw sweeping changes to many aspects of Bentley's cricketing heritage. Changes not for the sake of change but for Bentley to again become a significant force in the Suburban Turf Cricket competition.

Among the changes recommended by Steve and adopted by the committee were the purchase of club training shirts and club shirts to be worn to games. Both of these purchases were well received and found all regular players sporting their new Bentley attire with pride. Pre season training began in earnest in July and immediately results were noticeable. The numbers were excellent and this continued throughout the cricket season despite the reality that all teams would not make the finals after 10 rounds.

As a player in the same side as Steve I saw his many sides. Firstly, his competitive instinct is enormous. His positive attitude in this regard reflected on his team and despite some ordinary results, the three wins was a significant improvement on the previous season and a lot of the top sides achievements this season can be put down to Steve's direct influence.

Secondly, his ability to communicate with all of those around him. He always makes time to talk to players individually and listens as well as advises. I believe his communication skills have allowed Bentley to recruit and retain players this season and negotiate the changes with the committee that he feels is necessary to make Bentley a great cricket club.

Finally Steve's many quotable quotes "look at me", "at a hustle" and is there anybody Steve does not know? It would seem not, as he calls everyone he meets "buddy".

The committee has shown great foresight in negotiating with Steve to remain at Bentley for the 1994/95 season with an option for 1995/96. Steve has built a significant base to build Bentley into a great force in this competition. I am sure we will see the fruits come finals time next season.

C.C.

2ND GRADE

1993/94 SUMMARY

A SOLID PLATFORM TO BUILD ON!

The season began with the anticipation of significant improvement from the 1992/93 season which was winless. With new Captain/Coach Steve Shearing leading from the front and the addition of new all round Colin Dymock adding to the solid nucleus from 1992/93 more wins than losses were expected.

After game 1 against Bedford it didn't look good after being caned all over the park and then being rolled for a meagre total it looked as if 1993/94 would be a repeat of last season. This was not to be although our final record of 3 wins and 8 losses is not exactly awe inspiring, it did show that positive signs are emerging.

The wins against Melville, M.N.O.B. and Girrawheen were obtained achieving basic goals we had discussed at the start of the season. Each time we achieved these aims we won. Each time we didn't, we lost. In all it was that simple although there were some games which we threw away either by the loss of quick wickets, poor bowling or dropped catches.

There were some very good performances from individual players during the season. Colin Dymock always looked to be our best batsman and although he did not achieve what he would have liked he did compile 370 runs including a magnificent 91 no, 80 and 63. Significantly we won all three games in which he made these scores. Colin also took 28 wickets with his well flighted leg spinners including hauls of 6/43 and 6/66. Steve Tagliaferri was promoted to the top side early in the season and was like a breath of fresh air. Not only did he complete 25 dismissals (19 catches and 6 stumpings) but he often provided solid support with his batting which provided him with a club record 10th wicket partnership with Ian Dickerson and also earned him a promotion into the middle order by the end of the season. The other significant all round performance for 1993/94 was that of Steve Shearing. His total of 389 rums included 3 half centuries of which his 84 against M.N.O.B. from the opening position provided a solid foundation for our moral boosting victory and saw him robbed 16 runs short of his maiden century by probably the worst LBW decision in the history of the game. Steve also took 19 wickets and often achieved breakthroughs at important times with his stump to stump medium pacers.

There were some fine individual performances by players in particular games. Tony Magill took 5/33 against Bassendean, Colin Chilcott 5/49 against M.N.O.B., Ian Dickerson 6/76 against Bedford were good bowling performances whilst Peter Quartermaine's 57 against Murdoch, Ian Dickerson's 57 against Wembley and Colin Chilcott's 66 against Nedlands showed some good batting form on those occasions.

In summary, there is a platform to build on for the 1994/95 season where as there really wasn't at the end of last season. The players showed admirable commitment and steadily improved over the year which culminated in an emphatic win over Girrawheen. With perhaps the addition of a genuine fast bowler and another batsman I believe the 1994/95 Bentley Top Side will play in the finals.